let atm = sender(req), card = card(req), account = account(card), op = op(req), amount = amount(req)

op = Statement

SEND (atm,op,mailed)

’ SEND (atm, UnknownCard) ‘

Blocked(card)

no

op = Balance

Awailable(info(account))

yes \1?

SEND (atm, IllegalCard) ‘

~

op = WithDrawal

l

Available(info(account))

\{/es

’ SEND (atm,Info Unavailable) ‘

CanBeGranted

(amount,account)

 ~

TRIGGERMAIL(req)

’ SEND(atm,op,bal(account) ‘

’ SEND (atm,op,notOk) ‘

kaes

’ SEND ( atm, op, Ok,amount) ‘




